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SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2019
Part - 111
CHEMISTRY

Maximum : 60 Scores

Time : 2 Hours
Cool-off Time : 15 Minutes

/General Instructions ro Candidates : \

* There is a ‘Cool off time "of 15 minutes in addition to the writing time of 2 hrs.

* You are not allowed 1o write your answers nor to discuss anything with others during
the ‘cool off time .

* Read questions carefully before answering.

Read the Instructions carefully.
* Calculations, figures and graphs should be shown in the answer sheet itself.
* Malayalam version of the questions is also provided,

* Give equations wherever necessary.

*

Electronic devices except non programmable calculators are not allowed in the
Examination Hall.

aliejpdmde:dengn oniommidegusmad :
* ofiddlatis 2 aemileeyd maworlod ayoea 13 Aoy ‘wd soad eeso’ eereoxfldieno.

t DY MOWER) 3.0I06 RO SEMRc ag)FmIem, agiescmmow aprwalriaws
MSEWOEMNT aloglg).

* DODOSTBA ag K@My aml .2l 1B WaabIa e (IEEnsmo.

* 8206 midequosTRUd UBrRLIA Qe aunwlensme,

* DEMBET BaGRB R, 2 NI, (10ani®. agrmial DEMRGICIE® ®enm oenzowldlensmo.
* Golosjemtd peiwogedine Mg,

* EDOUURIIGS LOEIEITE TUACLIOE: S0 68051866Mo.

* GO 6.21QJOMNIBOGD SOWLHIBUROG:D GFlOBHWIEE B0 DIy 06nley
SIBOEMAU0 alBld:2i0a008]ad galswouileniaiomd adlgy

o /

SSE 25 Chemistry 1/8




Score

Answer any 7 questions from 1to 9.

(1 Score each).

1.

(7x1=T)

Zinc Blende (ZnS) is the ore of Zinc.
Which method is used to concentrate
this ore ?

a) Leaching

b) Magnetic separation
¢) Froth floatation

d) Hydraulic washing

Which one is used as refrigerant ?
a) Liquid ammonia

b) Liquid oxygen

¢) Liquid chlorine

d) Liquid nitrogen

The common and stable oxidation state
of lanthanides is

+2, 43, +4, +1

_In [CO (NH,), NO.] Cl,, NO. is an

amphident ligand. Select the isomerism
exhibited by this complex.

a) lonic isomerism

b) Hydrate [somerism

¢) Linkage [somerism

d) Co-ordination [somerisim

{1
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a) CCLF, \) CCLF
b) CH.Cl o) CHCL
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6. Picric acid is

Score

OH
NO,
a)
; NO,
|
| NQO,
‘ OH
b) NO, NO,
NQ,
CHO
OH
c)
OH
1
\
| d) Br Br
Br

' 7. R-CO-Cl+H, —+%%% ,R-CHO+H(
This reaction 1s known as
a) HUZ Reaction
b) Rosenmund Reduction
¢) Clemensen Reduction
d) Williamson Synthesis

Score
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@DETTY.
OH
NO
a) :
NO,
NO,
OH
b) NO, NO,
NO,
CHO
c) OH
OH
Br
Q) Br
Br

. R—CO-Cl+H, 5% 4R _CHO+HC
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a) HUZ Reaction

b) Rosenmund Reduction

¢) Clemensen Reduction

d) Williamson Synthesis
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8. Packing efficiency of body centred 8. Genionsl exrms dyenledioa oookedes
cubic is ag)adlauydad) e’
a) 74% a) 74%
b) 60.4% b) 60.4%
c) 52.4% c) 52.4%
d) 68% d) 68%
9. is an example for oil in 9. ‘eowiad snm OSA’ ag)DBABaHT EX3OEMAIENS
water emulsion. a) asoel b) e
a) Milk b) Butter <) aw d) eesedd
c) Gum d) Gelatine
Answer any 10 questions from 10 to 22. 10 a0 22 cuonwgs s.a106)megled
(2 Score each) (10x2=20) | ~go@mlayo 10 agepewlm’ pemeo
ag)Pime. (2 empod allme.) (10x2=20)
10. Classify the following in to crystalline 10. moey mmidenmain @imeisesmio
and amorphous solids. @Remdddaomy grudellsmd agymye o
Sodium chloride, quartz, glass, rubber. OIIUEIIES

aruoalfiwo eg0ee0, dpdgmi, grom, ok

11. Explain the terms. 11. @06 @OIdee o IaeTRcb QA BEeE,
a) Brownian movement. (1) a) Euemlwm ayalaad 1)
b} Peptisation. (1) b) eleloegerasm 1)
12. Define ideal solution and give an 12. “eagrulied exruoapaud ageamm?
example. ABOLLL Ns6)cen. 630 HFOAOMEMO AG)PATUS:
13. Match the following : 13. caijoals] coldaey.
A B A B
Magnetic separation Bauxite L0 lmecudaldlendd OISO TVG
Zone refining NI(CO), amusrd Gloeaniless NI(CO),
Monds process Haematite emasmsay (alcudemmo Cn00OORE
L.eaching Germanium efl o flouy egbenaiwo
14. a) How will you prepare SO, ? (1) | 14. a) SO, egemem afldazlence ? (1)
b) Mention one of its reducing b) SO, o aa afecogilecam

CUABMMNO af)PiBbs. (1)

property. (1)
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15. a) Which is the most common

oxyacid of nitrogen ? 1D

b) How will you prepare it from NH, ? (1)

16. a) ‘Transition elements are generally
paramagnetic’. Comment onit. (1)

. b) Calculate the magnetic moment of
Mn* ion (d° configuration). (1)

17, How will you prepare toluene from
chlorobenzene and name the reaction ?

18. Among C,H.Cl and C H.Cl, which is
more reactive towards NaOH ? Justify
| your answer.

19, How will you convert formaldehyde to
ethyl alcohol ?

20, Suggest a method for the preparation of
symmetrical and unsymmetrical ether.
- Give chemical equation.

21, Prepare CH,-COCl and CH, CONH,
- from acetic acid.
|

22, Distinguish the following :
1) Acetaldehyde and acetone
- 2) Phenol and benzoic acid. -

Answer any 7 questions from 23 to 31.
(3 Score each) (7%3=21)

23, 1) What are primary and secondary
cells ?

2) Give examples for each cells.
- 3) Which cell is used in hearing aid ?

Score
15. a) semsged] MBQIUOWINEMANY BIE
apmilaw) agmoe ? (1)
b) soal’ wremosmleeled aflom
midadlenmemesslemadsT ? (1)

16. a) quoiEmem mele6tRd Saldmen
alo@omduiamgles @er. enailad
aflsmayns @eElalo®o ag)Pimid:. 1)

b) Mn*" epcwoed (d° ee0emdad
n6Oa¥M) ey powiamgle:; amomaf
BEMNBNIBE . (1)

17. egpeoasuadmioild aflom ssosuaiad
agiemem cidaxilende ? 69 ud@mm

@O Cald ag)omnoem ?
18. C,H.Cl, C H.Cl agoricuciad agymoeny
NaOH aooel #ysimat ccumamaad

alcudaslenyma ? alemaes §eEmaoc
TOIU) BHB] HE .

19. canodoo@aslomanaleom goe e
@D ELHEAND @BSES] QOYPMEDmETBEM ?

20. mlaleneyo eretmilaisiaenenow
IO ;B Mdamlenod &ay @lm
Mdequleeis. 01 (alubemmaenlang

QITOTVDOUIELIO af)FATLL:.

21. CH,-COCl go CH, CONH, go @necrugles
arpmilalled allomye afldamwe)d.
22. mosy mildlesmalaw ed®id.o,cllayss.
1) mremgo@daflosnanwie @rreRoemo
2) adlemogie ewnimdemoailes @pmiauwe
23 ojoad 31 cuenwgg ealosjemalad
agemilale 7 agEREmim oomno ag)eim e
(3 eapad aflmo.) (7x3=21)
23. 1) ogyomoers eeadlele emaentidieye
OMVRYEUD 7
2) &s0omimie HBaNwEMo ag)Fi®d:.

3) wausmmansdwiad salecworilanm
e agymoemy ?
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24. According to collision theory chemical

26.

27.

28.

reaction take place due to the collision
of reactant molecules.

a) Explain the terms.
1) Activation energy
2) Collision frequency.

b) Give an expression for rate of
reaction on the basis of collision
theory.

- Titanium and Nickel are refined using

vapour phase refining,

a) Explain the methods used to refine
Ti and Ni.

b) Give essential requirements for
vapour phase refining of metal.

a) What are inter halogens ?
b) Give an example and its preparation.

¢) Compare the reactivity of inter
halogen with corresponding halogen.

a) From which ore K,Cr,0, can be
prepared ?

b) Give the structures of chromate and
dichromate ions.

¢) Give an example for oxidising
property of K.Cr,0,.

a) Write IUPAC name of K,[Fe(CN),].

b) Whether it is an inner or outer
complex.

¢} Compare its stability with
K,[Fe(CN),].

A e

Score

24. o@06flanmd aelwd memimda] eomaia

25.

26.

27.

28.
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a) ®IeY aOWIM alBeRM ANERIEeE:.
1) @oglecianm agmbed
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b) e®odlaumd dlodaes eedmnomariad
@Mt lcud@mMEElean eoglad
MIDOUSEL IO AGYFIOLD:.

easporileaye dlese)o etdadalmal

MoMPREMETHI2ROS ToP@lenim
GRIOANETREO6.

a) Ti go Ni po momisedienm df
aflwedle:leeyss.

b) entoatinimer momissnsmarmiad @oad
CLIORIMOW (AIGE YO De(d a)OmRJT0 ?

a) DftanseearmE agemosny ?

b) BBanseceR® Bo HEOANGEMO
)Py paflen aildanossmo allkes
BOLEY B,

€} DBRNIOLIIORMI:HEOS
OQUREBMLADD aOIORILM)E:
10w MImA0 O.21Qd:.

a) oo’ aeafldl@d aflomoeny I(2Cr20'-7
mildadleeyma ?
b) ewmocagio aewewmdsagie
BOEWIEMYHRIES SLISM CUDHOD.
¢) K,Cr,0, om eogleaem
(ludEmmeiod’ 60} §E0anmEMo
QGBS
a) K, [Fe(CN),] e IUPAC moao
)OS,
b) & o edo06ng ey @BEEMD BYgd
Ber006)g |y BBEEMI gy alOW b,
¢} oo mudlem K,[Fe(CN) ] o
mudlomeos @oemmio 001w,
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29. a) Write any two difference between

SN' and SN? mechanism.

~b) Which of the following undergo SN?

' mechanism readily ?

(CH,), CCl and CH,-Cl

- ¢) Justify vour answer.

| OH
30, a)
CHCI,/KOH
i ONa
'b)
‘ CO
; —*— B
| H
|
‘ OH
| ©)

Chromic acid S C

\

|

| Identify A, B and C and name each
! reaction.

31 [dentify the reagents for following

" reactions.

| CH; CHO
& ¢

'2) R=CN >R -CHO

' 3) R-COO-R— R-CHO

Score

29. a) SN' @laoaluiaye SN? @laoaiuiage
GOHERER A6NE QLTSI ag H1T®s.

b) @oey emidlenmalad agmosm SN-
@lwo afiuialeyes (cudommo
mnsaTnyMa) ?

(CH,), CCl go CH,CI

C) letEEMS HOMRO MICUB BB,

OH
30. a)
CHCI, / KOH , A
ONa
b) @
CcO
— 2 4B
at
OH
c)

Chromic acid =~ ~

Ld

A, B, C agomicy afldlgjcflayes. aosro
AEDMETEMQe Gald ag)amic:.

31. @sy emomidlesimm wcudemmemsl s
9aie@ouileem clewemie:ud aildl ojdlayds..

CH, CHO
© — ©

2) R~ CN - R - CHO

3) R-COO-R — R-CHO
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~ Answer any 3 questions from 32 to 35,

(4 Score each)

(3x4=12)

32. a) Which is more reactive allotrope

.

34,

35.

b)
c)

d)

a)
b)

of phosphorus ?
Give Reason.

Write any two properties of above
allotrope.

How will you convert above
allotrope to other allotropes of
phosphorus ?

What is crystal field splitting ?
Diagramatically represent the
splitting of d-orbitals in an
octahedral field of ligands.

Tetrahedral complexes are usually
high spin complexes. Why ?

(b

(2)
(1)

How will you prepare ethanol
commercially ?

Compare the acidity of ethanol
with phenol.

Write the products obtained when
ethanol is heated with con H.SO,
at413 K and 443 K.

(1)
(1

(2)

Identify A, B, C and D.

CH,—CHO -

dil NaOH

\
>

ammoniacal
AgNO,

b
o

LiAlH,

v
@

NH, OH

v
W/

OB

Score

32 aymad 35 cuenwmigs @.alocieRgldd
agiemmleyo 3 ag)pOmT HEMOC ag)P B .

(4 ampod aflmo)

32. a)

b)
C)

d)

33 a)

34, a)

35.

CH,—CHO —

(3x4=12)

En0oMianOmIeM® aRRale @lwoudlel
BSIW DAISTD0 af@l ?

BHIMEMO ) FIB .

00 QIR AENE LMD
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HWSH600 ?
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QQOGMOW ag)STBEHM (0L
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agLoemoglen eemiladgl adlemogmowf

@OV 621G, (1)

agoemoglem moas H,5O, aowl
413 K eye 443 K eyo 2 ysosnemuocd

HGON PRATNETBR ageamgpo ? (2)

A, B, C, D agmicu aidlaclaye.

dil NaOH

o

ammoniacal
AgNQ,

¥
{wyl

LiAlH,

¥
@]

NH, OH

v
)
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